EARAROBEEIERT — 2 N— IBISH —F

20125 1A308 (B) 22mE&HE1H

mﬁ'ﬁé}ﬁﬂu B2 5% (xwlw | lmEmml - |5 @) o 8
[AE£] 1% :220,000" ~ 2%&:44,000”  37%&:22,000”  4%&:0MH / 5&:0M
B B BEBR M HE BF (FE) g4 L (&%) | BBIER | EOF SR | AR | HhE | BRE (FIR) / BE / £ERS
+=mie . DD — )
il 7 kerv7or i 4 a_ﬂ(ﬂﬁa 1.(3_0).5 2-2-2-2 | 39.5 3 (4_825) E;iﬁﬁ (BHE)
L:Ers/sn7aq4 BVET =¥ Ty —L
S S FLEFRER :30. FaGH . — £H—& (£R)
» 4|2V TLLF 4 4 i (11310/27) 3-3-3-3 | 39.4 1 (4+928) Ems
L:T7LeFFE2T B2 YIE— ®11405
o . . BEE— . g3 — B (BHE)
3 6 ¥rUo—x > 5 =5 1.(310>.9 8-8-3-4 | 39.1 2 (ﬁg) I
AR T4 —T B:O—-XK— ELae]
_ .. R : -1-1- = £H—E (&R
4 3|45/ K— K H 6 L 1.(321).3 1-1-1-1 | 40.6 4 (5+o13; Wg_z y
R: 29T A —F7—K—-F B:HyrkOs¥-—Xx E-d:ibie)
_ N . thi ) :31. —6-3- . — Bria—% (Z84E)
517l 7| TrF -k 4 6 i 1(331)9 6-6-3-5 | 40.4 5 ?(1);5 ol
L:d—IRAaqfO— By bh=51F> ZHE —fE
N BERE A 2328 ~7-8- . - IR (%1
6l8l9 TAZ—/)\N1) 24 % 5 54_[)* 1(312)1 7-7-8-7 | 40.1 10 42(1))7 b 7]'\—5(;7’
R:x>Inq1A— B:T7R—-I =Eiie
3 4 6 | RIFWAE 1:32.4 9-9-9-9 [39.5| — 8 489 | REBL— (BEHE)
] 2 Ly 567.% (11/2) -2) (B) ®*=ZX457
R:hLSv—TA52 K By FI-—YzaAFR Sitie
9 1] < [Stata :32. ~4-6- . - Sty (BHE)
gl5l5 AHYIATY X 4 5 54.0% }73%:) 5-4-6-6 | 40.9 7 <4+347) ot
RiZRTT 4 ZF— BiYr—~NCI—LR BESH TAL—Z>Ft>%
- — S . —10-10— _ fE—
9l7lg| v P1T7IHT« o5 ‘sr’éf)* 1.&3).3 10-10-10-10 39.8 6 :5; g;{; (BHE)
R:T7HAFALTNK BiRkyhIFLTAT F—L—-TJv)Xr - T7—LERE
- it 6 | BEXE 1:33.3 4-4-7-8 | 41.8| — 9 477 | HD=— (BEHE)
10/ 8 (10 I7Z—3 54.0 (74%) “7) BN
LITIN-F BI7LCX HET7— L
® 1—F—@EBIERL
1T=7r= 3,1,4,10,5,7,9,6,2,8
2a=5F= 3,1,4,(5,10),7,9,6,2,8
Ja=5= 3,1,(4,6,7),5,10,9,2,8
43—+ — 3,1,4,6,7,5,9,10,2,8
[ /N
B 1 570M 7 3 1-4 340M 3EE 1-4-6 310
B B 1 110H e B 1-4 930M EH 1-4-6 2,420M
4 1004 B & 1-4 350M
6 1309 B HE 1-4 860

ABICOVWTRDTEEERROODE. TR LIV,




